

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



DLN: 93491320039666

OMB No 1545-0052

Inspection

Department of the Treasury Internal Revenue Service

Return of Private Foundation or Section 4947(a)(1) Trust Treated as Private Foundation

▶ Do not enter social security numbers on this form as it may be made public. ▶ Information about Form 990-PF and its instructions is at <u>www.irs.gov/form990pf</u>.

For	caler	ndar year 2015, or tax year beginning 01-0	1-2015	, and ending 1	2-31-2015			
	e of four			A Employer Ide	entification numb	er		
		ARITABLE TRUST		48-6109777				
	PETER H ber and :	I BEREN street (or P O box number	Room/suite	B Telephone nur	nber (see instruction	s)		
		LEY STREET		(913) 645-8550				
		state or province, country, and ZIP or foreign postal code ARK, KS 66210		C If exemption	application is pendin	g, check here		
						'		
G C i	neck all	that apply Initial return Initial return of a f	former public charity	D 1. Foreign or	ganizations, check h	ere >		
		✓Address change Name change		2. Foreign or	ganızatıons meeting	the 85%		
					k here and attach co indation status was			
		pe of organization		under section	n 507(b)(1)(A), ched			
		et value of all assets at end JAccounting method	Cash	. 1	ition is in a 60-mont	h termination		
of۱	year <i>(fr</i>	rom Part II, col (c),			507(b)(1)(B), chec			
Pa	rt I	Analysis of Revenue and Expenses	B			Disbursements		
		(The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a) (see instructions))	Revenue and expenses per (a) books	Net investment (b) income	Adjusted net (c) income	for charitable purposes (d) (cash basis only)		
	1	Contributions, gifts, grants, etc , received (attach						
		schedule)	25,000					
	2	Check ► ☐ If the foundation is not required to						
		attach Sch B						
	3	Interest on savings and temporary cash investments						
	4	Dividends and interest from securities	2,446	2,446		ng, check here lere lithe 85% Interminated ck here Ch termination ck here Disbursements for charitable purposes (d) (cash basis only)		
Reversie	5a	Gross rents	·			ng, check here nere g the 85% omputation terminated ck here Disbursements for chantable purposes (d) (cash basis only)		
	b	Net rental income or (loss)						
	6a	Net gain or (loss) from sale of assets not on line 10	686					
	ь	Gross sales price for all assets on line 6a 12,712						
~	7	Capital gain net income (from Part IV, line 2)		686				
	8	Net short-term capital gain						
	9	Income modifications						
	10a	Gross sales less returns and						
	<u>.</u>	allowances Less Cost of goods sold						
	b c	Gross profit or (loss) (attach schedule)						
		Other income (attach schedule)						
	11		28,132	3,132				
	12	Total. Add lines 1 through 11	20,132	5,132				
	14	Other employee salaries and wages						
S	15	Pension plans, employee benefits						
156	16a	Legal fees (attach schedule)						
Expenses	b	Accounting fees (attach schedule)	790	790	C	0		
	, c	Other professional fees (attach schedule)	1,346	1,346				
Ne	17	Interest	· ·	·				
rat	18	Taxes (attach schedule) (see instructions)	9 35	35				
and Administrative	19	Depreciation (attach schedule) and depletion	-					
Ξ	20	Occupancy	-					
Ă	21	Travel, conferences, and meetings						
and	22	Printing and publications						
bi.	23	Other expenses (attach schedule)						
Operating	24	Total operating and administrative expenses.						
ber		Add lines 13 through 23	2,171	2,171	C	0		
Ō	25	Contributions, gifts, grants paid	19,650			17,850		
	26	Total expenses and disbursements. Add lines 24 and						
	37	Subtract line 36 from line 13	21,821	2,171	0	17,850		
	27	Subtract line 26 from line 12 Excess of revenue over expenses and disbursements	6,311					
	a b	Net investment income (if negative, enter -0-)	0,511	961				
	C	Adjusted net income(if negative, enter -0-)		301				
	. ~		ı			1		

Assets	rt II				
ets		Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only (See instructions)	(a) Book Value	(b) Book Value	(c) Fair Market Value
ets	1	Cash—non-interest-bearing	705	500	
ets	2	Savings and temporary cash investments	735	598	598
ets	3	Accounts receivable ▶			
ets		Less allowance for doubtful accounts ▶			
ets	4	Pledges receivable ▶			
ets		Less allowance for doubtful accounts ▶			
ets	5	Grants receivable			
ets	6	Receivables due from officers, directors, trustees, and other			
ets		disqualified persons (attach schedule) (see instructions)			
ets	7	Other notes and loans receivable (attach schedule) ▶			
ets		Less allowance for doubtful accounts ▶			
ō	8	Inventories for sale or use			
S	9	Prepaid expenses and deferred charges			
As	10a	Investments—U S and state government obligations (attach schedule)			
	b	Investments—corporate stock (attach schedule)	57,194	60,998	60,998
	С	Investments—corporate bonds (attach schedule)			
	11	Investments—land, buildings, and equipment basis ▶			
		Less accumulated depreciation (attach schedule) ▶			
	12	Investments—mortgage loans			
	13	Investments—other (attach schedule)			
	14	Land, buildings, and equipment basis ▶			
		Less accumulated depreciation (attach schedule) ▶			
	15	Other assets (describe ▶)			
	16	Total assets (to be completed by all filers—see the			
		ınstructions Also, see page 1, item I)	57,929	61,596	61,596
	17	Accounts payable and accrued expenses			
_	18	Grants payable			
368	19	Deferred revenue			
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons			
<u> </u>	21	Mortgages and other notes payable (attach schedule)			
_	22	Other liabilities (describe 🕨)			
	23	Total liabilities(add lines 17 through 22)		0	
5		Foundations that follow SFAS 117, check here ▶			
		and complete lines 24 through 26 and lines 30 and 31.			
an	24	Unrestricted			
Balance	25	Temporarily restricted			
٦	26	Permanently restricted			
Fund		Foundations that do not follow SFAS 117, check here 🕨 🔽			
ŏ		and complete lines 27 through 31.			
	27	Capital stock, trust principal, or current funds			
Assets	28	Paid-in or capital surplus, or land, bldg , and equipment fund			
ď	29	Retained earnings, accumulated income, endowment, or other funds	57,929	61,596	
Net	30	Total net assets or fund balances(see instructions)	57,929	61,596	
_	31	Total liabilities and net assets/fund balances(see instructions)	57,929	61,596	
Pa	rt III	Analysis of Changes in Net Assets or Fund Balances			
1		Total net assets or fund balances at beginning of year—Part II, column (a), line 30 (must ag	ree	
		with end-of-year figure reported on prior year's return)		1	57,929
2		Enter amount from Part I, line 27a		2	6,311
3		Other increases not included in line 2 (itemize)		3	
4		Add broad 2 and 2		4	64,240
5		Add lines 1, 2, and 3			07,270
6		Decreases not included in line 2 (itemize)		_ %	2,644

How acquired

		se, or common stock, 200 shs		P—Purchase (b) D—Donation		(mo , day, yr)	(d) (mo , day, yr)
1 a	CAPITAL GAINS DIVID	ENDS					
b	MERRILL LYNCH-PUBLIC	CLY TRADED SECURITIES					
С							
d							
e							
) Gross sales price	Depreciation allowed (f) (or allowable)		or other basis expense of sale			or (loss) (f) minus (g)
а		5	10.	·			5
b	12,7	07		12,03	9		681
С							
d							
е							
Cor	nplete only for assets show	ving gain in column (h) and owne	d by the foundation	on 12/31/69	1	Gains (Col	(h) gain minus
	F M V as of 12/31/69	A djusted basis (j) as of 12/31/69	Exc	ess of col (ı) col (j), ıf any	(1)	col (k), but no	t less than -0-) or from col (h))
а							5
b							668
c							
d							
е							
2	Capital gain net income o		If gain, also enter If (loss), enter -0-		2		686
3	Net short-term capital da	in or (loss) as defined in section	ns 1222(5) and (6)	,	<u> </u>		
,	If gain, also enter in Part	I, line 8, column (c) (see instru	ctions) If (loss), e				
	ın Part I, line 8			• •	3		
Part \	Qualification Unde	er Section 4940(e) for R	educed Tax on	Net Investme	ent I	ncome	
	ional use by domestic priva in 4940(d)(2) applies, leave	te foundations subject to the se e this part blank	ection 4940(a) tax	on net investment	incon	ne)	
		ction 4942 tax on the distributa ualify under section 4940(e) Do			eriod?		┌ Yes 🗸 No
1 Ent	er the appropriate amount i	n each column for each year, se	ee instructions befo	re making any ent	ries		
	(a)	(b)	(c)			(d) Distributio	
	r tax year beginning in)	Adjusted qualifying distributions	Net value of nonchar			(col (b) divided	
	2014	10,975		60,450			0 181555
	2013	4,970		55,665			0 089284
	2012	8,530 7,000		53,836 54,716			0 158444
	2010	4,000		59,697			0 067005
2					2		0 624221
3	Average distribution ratio	o for the 5-year base period—div oundation has been in existence	ride the total on line	e 2 by 5, or by	3		0 124844
4	•	ncharitable-use assets for 2015	•	_	4		60,258
5				<u> </u>	5		7,523
6		ent income (1% of Part I, line 2)		<u> </u>	6		10
7			•	⊢	7		7,533
8		ons from Part XII, line 4			8		17,850
3		ater than line 7, check the box				ısıng a 1% ta:	

8a Enter the states to which the foundation reports or with which it is registered (see instructions)

b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate) of each state as required by General Instruction G? If "No," attach explanation.

Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar year 2015 or the taxable year beginning in 2015 (see instructions for Part XIV)?

. Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names

►KS

If "Yes," complete Part XIV

and addresses

8h

9

10

Yes

No

No

Form	990-PF (2015)		Р	age 5
Pai	rt VII-A Statements Regarding Activities (continued)			
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the			
	meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		No
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had			
	advisory privileges? If "Yes," attach statement (see instructions)	12		No
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	Yes	
	Website address ►N/A			
14	The books are in care of ▶PETER H BEREN Telephone no ▶(913) 645-	8550	
	Located at ► 11300 HADLEY STREET OVERLAND PARK KS ZIP+4 ► 66210			
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 —Check here		▶ □	_
	and enter the amount of tax-exempt interest received or accrued during the year		•	
16	At any time during calendar year 2015, did the foundation have an interest in or a signature or other authority over		Yes	No
	a bank, securities, or other financial account in a foreign country?	16	1.55	No
	See instructions for exceptions and filing requirements for FinCEN Form 114, Report of Foreign Bank and Financial Accounts (FBAR) If "Yes", enter the name of the foreign country ▶			
Pai	rt VII-B Statements Regarding Activities for Which Form 4720 May Be Required			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1 a	During the year did the foundation (either directly or indirectly)			
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person?			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from)	İ	İ	İ
	a disqualified person?			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? ▼ Yes ▼ No	İ	İ	İ
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person?	İ	İ	İ
	(5) Transfer any income or assets to a disqualified person (or make any of either available	İ	i	i
	for the benefit or use of a disqualified person)?			
	(6) Agree to pay money or property to a government official? (Exception. Check "No"			
	if the foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days)			
b	If any answer is "Yes" to 1a(1)–(6), did any of the acts fail to qualify under the exceptions described in Regulations		İ	İ
	section 53 4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b		
	Organizations relying on a current notice regarding disaster assistance check here			
	Γ			
С	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts,			
	that were not corrected before the first day of the tax year beginning in 2015?	1c		No
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private			
а	operating foundation defined in section 4942(j)(3) or 4942(j)(5)) At the end of tax year 2015, did the foundation have any undistributed income (lines 6d			
a	and 6e, Part XIII) for tax year(s) beginning before 2015?			
	If "Yes," list the years ▶ 20, 20, 20	! 	i İ	İ
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2)			
_	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2)			
	to all years listed, answer "No" and attach statement—see instructions)	2b		
С	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here			
	▶ 20, 20, 20			
3 a	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at			
	any time during the year?			
b				
	or disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved			
	by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest, or (3)			
	the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the foundation had excess business holdings in 2015).	3b		
4 a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a	-	No
+a b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its	a	-	140
5	charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2015?	4b		No
	· · · · · · · · · · · · · · · · · · ·			-

(1) Carry on propaganda, or otherwise attempt to influence legislation (section 4945(e))?	Pa	Statements Rega	iraing Activities for	Which Form 4/20	May Be Required (Con	tinuea	,	
(2) Influence the outcome of any specific public election (see section 4955), or to carry on, directly or indirectly, any voter registration drive?. (3) Provide a grant to an individual for travel, study, or other similar purposes? (4) Provide a grant to an organization other than a chantable, etc., organization described in section 4954(d)(4)(4)? (see instructions). (5) Provide for any purpose other than religious, chantable, scientific, literary, or educational purposes, or for the prevention of cruelty to children or animals? (6) Provide for any purpose other than religious, chantable, scientific, literary, or educational purposes, or for the prevention of cruelty to children or animals? (7) Provide for any purpose other than religious, chantable, scientific, literary, or educational purposes, or for the prevention of cruelty to children or animals? (8) Provide for any purpose other than religious, chantable, scientific, literary, or educational purposes, or for the prevention of cruelty to children or animals? (9) Provide for any purpose other than religious, chantable, scientific, literary, or educational purposes, or for the prevention of cruelty to children or animals? (9) If any answer is "Yes" to Sa(1)-(5), did anyof the transaction fail to qualify under the exceptions described in Regulations sections of sactions and contractors. (1) If the answer is "Yes" to question Sa(4), does the foundation claim exemption from the tax because it maintained expenditure responsibility for the grant? (1) If "Yes," attent the statement required by Regulations sections 33-4945-5(d) (1) If "Yes," attent the statement required by Regulations sections 33-4945-5(d) (2) Did the foundation, during the year, pay premiums, directly or indirectly, on a personal benefit contract? (8) Provide the foundation, during the year, pay premiums, directly or indirectly, on a personal benefit contract? (9) Did the foundation, during the year, pay premiums, directly or indirectly, on a personal benefit contract? (9) A tax i	5a	During the year did the foundatio	n pay or incur any amoun	t to				
on, directly or indirectly, any woter registration drive? (3) Provide a grant to an individual for travel, study, or other similar purposes? (4) Provide a grant to an individual for travel, study, or other similar purposes? (4) Provide a grant to an individual for travel, study, or other similar purposes? (5) Provide for any purpose other than religious, chantable, scientific, literary, or educational purposes, offer the prevention of cruelty to children or animals? (5) Provide for any purpose other than religious, chantable, scientific, literary, or educational purposes, offer the prevention of cruelty to children or animals? (6) Provide for any purpose other than religious, chantable, scientific, literary, or educational purposes, offer the prevention of cruelty to children or animals? (7) Provide for any purpose other than religious, chantable, scientific, literary, or educations purposes, or for the prevention of cruelty to children or animals? (8) Provide for any purpose other than religious, chantable, scientific, literary, or educations purposes, offer the prevention of cruelty to children or animals? (8) If any answer is "Yes" to gastle and current notice regarding disaster assistance (see instructions)? (9) If we answer is "Yes" to question 5a(4), does the foundation claim exemption from the tax because it maintained expenditure responsibility for the grant? (1) If "Yes," attach the statement required by Regulations section 53 4945 or in directly. (1) If "Yes," attach the statement required by Regulations section 53 4945 or in directly. (2) Did the foundation, during the year, pay premiums, directly or indirectly, on a personal benefit contract? (3) If "Yes," at the foundation and party to a prohibited tax shelter transaction? (6) In No. (8) In No. (9) In Fire, and average hours per week (b) devoted to position (1) In Orantactors (1) In Orantactors (2) Compensation (1) In Orantactors (3) Name and address of each employee soft the than those included on line 1—see instructions). If		(1) Carry on propaganda, or othe	rwise attempt to influence	e legislation (section 49	45(e)) [?]	✓ No		
(3) Provide a grant to an individual for travel, study, or other similar purposes?		(2) Influence the outcome of any	specific public election (see section 4955), or to	carry			
(4) Provide a grant to an organization other than a charitable, etc., organization described in section 4945(d)(4)(A)? (see instructions). (5) Provide for any purpose other than religious, chantable, scientific, literary, or educational purposes, or for the prevention of cruelty to children or animals?.		on, directly or indirectly, any	voter registration drive?.		· · · · · \ \ Yes	✓ No		
in section 4945(d)(4)(A)? (see instructions).		(3) Provide a grant to an individu	ıal for travel, study, or oth	ner sımılar purposes?	Yes	✓ No		
(5) Provide for any purpose other than religious, charitable, scientific, literary, or educational purposes, or for the prevention of cruelty to children or animals?		(4) Provide a grant to an organiza	ation other than a charita	ble, etc , organization de	scribed			
educational purposes, or for the prevention of cruelty to children or animals?		ın section 4945(d)(4)(A)? (s	ee instructions)		· · · · · T Yes	✓ No		
b If any answer is "Yes" to 5a(1)—(5), did anyof the transactions fail to qualify under the exceptions described in Regulations section 53 4945 or in a current notice regarding disaster assistance (see instructions)?		(5) Provide for any purpose other	r than religious, charitable	e, scientific, literary, or	·			
Regulations section 53 4945 or in a current notice regarding disaster assistance (see instructions)?		educational purposes, or for t	the prevention of cruelty t	to children or animals?.	· · · · · Tyes	✓ No		
Organizations relying on a current notice regarding disaster assistance check here. If the answer is "Yes" to question 5a(4), does the foundation claim exemption from the tax because it maintained expenditure responsibility for the grant?. If "Yes," attach the statement required by Regulations section 53 4945-5(d) Did the foundation, during the year, receive any funds, directly or indirectly, to pay premiums on a personal benefit contract?. Did the foundation, during the year, pay premiums, directly or indirectly, on a personal benefit contract?. Did the foundation, during the year, pay premiums, directly or indirectly, on a personal benefit contract?. Did the foundation, during the year, pay premiums, directly or indirectly, on a personal benefit contract?. Did the foundation, during the year, was the foundation a party to a prohibited tax shelter transaction? Trest to 6b, file form 8870 At any time during the tax year, was the foundation aparty to a prohibited tax shelter transaction? Tifle, and average hours per week (b) devoted to position Tifle, and average hours per week (b) devoted to position TRUSTEE Officers, directors, trustees, foundation managers and their compensation (see instructions). Trust BEREN TRUSTEE Officers, Directors, Trustees, foundation to employee benefit plans and deferred compensation Expense account, epidement of tive highest-paid employees (other than those included on line 1—see instructions). Contributions to employee benefit plans and deferred (d) compensation Expense account, epidement of tive highest-paid employees (other than those included on line 1—see instructions). Contributions to employee benefit plans and deferred (d) compensation Expense account, epidement of the highest plans and deferred (d) compensation	b	If any answer is "Yes" to 5a(1)-	(5), dıd any of the transac	tions fail to qualify unde	the exceptions described in			
c If the answer is "Yes" to question 5a(4), does the foundation claim exemption from the tax because it maintained expenditure responsibility for the grant?		Regulations section 53 4945 or	ın a current notice regard	ing disaster assistance	(see instructions)?	L	5b	
tax because it maintained expenditure responsibility for the grant?		Organizations relying on a currer	nt notice regarding disast	er assistance check her	e ▶			
tax because it maintained expenditure responsibility for the grant?							1	ı
If "Yes," attach the statement required by Regulations section 53 4945-5(d) b Did the foundation, during the year, receive any funds, directly or indirectly, to pay premiums on a personal benefit contract?	С	·	* **	· ·				
Did the foundation, during the year, receive any funds, directly or indirectly, to pay premiums on a personal benefit contract?		tax because it maintained expend	diture responsibility for th	ne grant?	· · · · · · T Yes	∏ No │	ļ	
b Did the foundation, during the year, pay premiums, directly or indirectly, on a personal benefit contract?		•						
b Did the foundation, during the year, pay premiums, directly or indirectly, on a personal benefit contract? 6b No If "Yes" to 6b, file Form 8870 7a At any time during the tax year, was the foundation a party to a prohibited tax shelter transaction? Yes No 1 If yes, did the foundation receive any proceeds or have any net income attributable to the transaction? No 1 List all officers, Directors, Directors, Trustees, Foundation Managers, Highly Paid Employees, and Contractors 1 List all officers, directors, trustees, foundation managers and their compensation (see instructions). 2 (a) Name and address 1 Title, and average hours per week (b) devoted to position 2 Compensation of five highest-paid employees (other than those included on line 1—see instructions). If none, enter "NONE." 2 Compensation of five highest-paid employees (other than those included on line 1—see instructions). If none, enter "NONE." 2 Compensation of five highest-paid employees (other than those included on line 1—see instructions). If none, enter "NONE." 4 0 Compensation A contributions to employee benefit plans and deferred compensation Contributions to employee benefit plans and deferred compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation	6a	, , ,	, , , , , , , , , , , , , , , , , , , ,		·	_		
At any time during the tax year, was the foundation a party to a prohibited tax shelter transaction? Yes VNo If yes, did the foundation receive any proceeds or have any net income attributable to the transaction? 7b Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Employees, and Contractors List all officers, directors, trustees, foundation managers and their compensation (see instructions). (a) Name and address Trustees, foundation Managers, Highly Paid Employees, and Contractors Title, and average (b) devoted to position TRUSTEE O O O O O O O O O O O O		·			103		ļ	ļ
At any time during the tax year, was the foundation a party to a prohibited tax shelter transaction? Yes VNO	b	, ,	ar, pay premiums, directly	y or indirectly, on a pers	onal benefit contract?	·	6b	No
Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Employees, and Contractors List all officers, directors, trustees, foundation managers and their compensation (see instructions). (a) Name and address Title, and average hours per week (b) devoted to position TRUSTEE 1300 HADLEY VERLAND PARK, KS 66210 Compensation of five highest-paid employees (other than those included on line 1—see instructions). If none, enter "NONE." (a) Name and address of each employee paid more than \$50,000 Title, and average hours per week (b) devoted to position (c) Compensation (d) Contributions to employee benefit plans and deferred compensation (e) other allowances (c) Compensation (c) Compensation (d) Contributions to employee benefit plans and deferred compensation (e) other allowances (f) Compensation (g) Compensation (h) Contributions to employee benefit plans and deferred compensation (h) Contributions to employee benefit plans and deferred employee benefit plans and deferred employee benefit plans and deferred employee to the plans and deferred emplo	_	•				_		
Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Employees, and Contractors 1 List all officers, directors, trustees, foundation managers and their compensation (see instructions). (a) Name and address Title, and average hours per week (b) devoted to position TRUSTEE TRUSTEE TRUSTEE TRUSTEE Trustees, Foundation Managers, Highly Paid Employees, Order of the paid of the compensation (see instructions). (b) Contributions to employee benefit plans and deferred compensation TRUSTEE TRUSTEE Trustees, Foundation Managers, Highly Paid Employees, Order of the paid		-			1 .00	' i	_	ļ
1 List all officers, directors, trustees, foundation managers and their compensation (see instructions). (a) Name and address Title, and average hours per week (b) devoted to position TRUSTEE 1300 HADLEY VERLAND PARK, KS 66210 Compensation of five highest-paid employees (other than those included on line 1—see instructions). If none, enter "NONE." Contributions to employee benefit plans and deferred compensation (a) Name and address of each employee paid more than \$50,000 Title, and average hours per week (b) devoted to position (c) Compensation (c) Compensation (d) Contributions to employee benefit plans and deferred compensation Expense account, e) other allowances (c) Compensation (c) Compensation (d) Contributions to employee benefit plans and deferred compensation Expense account, e) other allowances (d) compensation	b	• •	, ,	,				
1 List all officers, directors, trustees, foundation managers and their compensation (see instructions). (a) Name and address Title, and average hours per week (b) devoted to position TRUSTEE 1300 HADLEY VERLAND PARK, KS 66210 2 Compensation of five highest-paid employees (other than those included on line 1—see instructions). If none, enter "NONE." (a) Name and address of each employee paid more than \$50,000 Title, and average hours per week (b) devoted to position (c) Compensation (d) Contributions to employee benefit plans and deferred compensation (e) other allowances Contributions to employee benefit plans and deferred (c) Compensation (a) Contributions to employee paid hours per week (b) devoted to position (b) devoted to position (c) Compensation (c) Compensation (c) Compensation (c) Compensation (d) Contributions to employee performs to employee paid plans and deferred (d) compensation (e) other allowances Expense account, e) other allowances	Pa		t Officers, Directors	s, Trustees, Founda	ition managers, Hignly	Paid	:mpio	yees,
(a) Name and address Title, and average hours per week (b) devoted to position TRUSTEE 1300 HADLEY VERLAND PARK, KS 66210 Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (c) Compensation Expense account, (e) other allowances Title, and average hours per week (b) devoted to position Title, and average hours per week (b) devoted to position Title, and average hours per week (c) Compensation Title, and average hours per week (d) compensation Title, and average hours per week (d) compensation Title, and average hours per week (d) compensation Title, and average hours per week (d) compensation Title, and average hours per week (d) compensation Title, and average hours per week (d) compensation Title, and average hours per week (d) compensation Title, and average hours per week (d) compensation Title, and average hours per week (d) compensation Title, and average hours per week (d) compensation Title, and average hours per week (d) compensation Title, and average hours per week (d) compens	1		s, foundation managers a	and their compensation (see instructions).			
(a) Name and address (b) devoted to position TRUSTEE TR			Title, and average	(c) Compensation(If				
TRUSTEE 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0		(a) Name and address	hours per week	not paid, enter			•	
1300 HADLEY EVERLAND PARK, KS 66210 2 Compensation of five highest-paid employees (other than those included on line 1—see instructions). If none, enter "NONE." (a) Name and address of each employee paid more than \$50,000 (b) devoted to position (c) Compensation (d) compensation (e) other allowances			(b) devoted to position	-0-)				
Compensation of five highest-paid employees (other than those included on line 1—see instructions). If none, enter "NONE." Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and deferred (d) compensation Contributions to employee benefit plans and de	ETE	R BEREN		0	C			0
Contributions to employee benefit plans and deferred (d) compensation (a) Name and address of each employee paid more than \$50,000 Title, and average hours per week (b) devoted to position (c) Compensation (c) Compensation (c) Compensation (d) compensation (e) other allowances			4 0					
(a) Name and address of each employee paid more than \$50,000 Title, and average hours per week (b) devoted to position (c) Compensation (c) Compensation Contributions to employee benefit plans and deferred (d) compensation (e) other allowances		·	d employees (other than t	 those included on line 1-	 -see instructions), If none, e	nter "NO	NF."	
Name and address of each employee paid more than \$50,000 hours per week (b) devoted to position (c) Compensation employee benefit plans and deferred (d) compensation (e) other allowances	_							
more than \$50,000 (b) devoted to position (d) compensation (e) other allowances	Nai			J	nn I''			
			•	1	plans and deferred	(e) ot	ner allo	wances
otal number of other employees paid over \$50,000								
otal number of other employees paid over \$50,000								
otal number of other employees paid over \$50,000								
otal number of other employees paid over \$50,000								
otal number of other employees paid over \$50,000								
otal number of other employees paid over \$50,000								
otal number of other employees paid over \$50,000								
otal number of other employees paid over \$50,000								
otal number of other employees paid over \$50,000								
otal number of other employees paid over \$50,000								
	rot a	I number of other employees hald	over\$50.000		 			

	1 990-PF (2015)		Page 8
Pa	rt X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations, see instructions)	s.)	
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc.,	.,	
	purposes		
а	A verage monthly fair market value of securities	1a	60,472
b	A verage of monthly cash balances	1 b	704
c	Fair market value of all other assets (see instructions)	1 c	0
d	Total (add lines 1a, b, and c)	1d	61,176
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation)		
2	Acquisition indebtedness applicable to line 1 assets	2	0
3	Subtract line 2 from line 1d	3	61,176
4	Cash deemed held for charitable activities Enter 1 1/2% of line 3 (for greater amount, see		
	ınstructions)	4	918
5	Net value of noncharitable-use assets. Subtract line 4 from line 3 Enter here and on Part V, line 4	5	60,258
6	Minimum investment return.Enter 5% of line 5	6	3,013
Pa	TEXI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and cer check here ► and do not complete this part.)	taın f	oreign organizations
1	Minimum investment return from Part X, line 6	1	3,013
2 a	Tax on investment income for 2015 from Part VI, line 5 2a 10		
b	Income tax for 2015 (This does not include the tax from Part VI) 2b		
_	Add lines 25 and 25	-	1.0

	(see instructions) (Section 4942(J)(3) and (J)(5) private ope	eratin	g roundations and cer	tain r	oreign organizations
	check here ▶ ☐ and do not complete this part.)				
1	Mınımum ınvestment return from Part X, line 6			1	3,013
2 a	Tax on investment income for 2015 from Part VI, line 5	2a	10		
b	Income tax for 2015 (This does not include the tax from Part VI)	2b			
С	Add lines 2a and 2b			2 c	10
-	Distributable amount before adjustments. Subtract line 2s from line 1			-	2.002

Distributable amount before adjustments Subtract line 2c from line 1. 3,003 4 Recoveries of amounts treated as qualifying distributions.

4 5 3.003 5

6 Deduction from distributable amount (see instructions). . . 6 7 Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII, line 1. 7 3,003

Part XII

1

2

3

Qualifying Distributions (see instructions)

Amounts set aside for specific charitable projects that satisfy the

b Cash distribution test (attach the required schedule).

the section 4940(e) reduction of tax in those years

Program-related investments—total from Part IX-B. . .

Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes

A mounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,

Expenses, contributions, qifts, etc —total from Part I, column (d), line 26. . . .

17,850 Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4 4 5 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income Enter 1% of Part I, line 27b (see instructions). . . 5 17,840

17,850

0

10

1a

1b

2

За

3b

	art XIII Undistributed Income (see instruc	tions)			r age 3
	Olidistributed Income (see mistrate		(b)	(a)	(4)
		(a) Corpus	(b) Years prior to 2014	(c) 2014	(d) 2015
1	Distributable amount for 2015 from Part XI, line 7	00.600	r data pitat ta 2021		3,003
	Undistributed income, if any, as of the end of 2015				
	Enter amount for 2014 only				
	Total for prior years 2013, 2012, 2011				
	Excess distributions carryover, if any, to 2015				
	From 2010				
b	From 2011 4,264				
c	From 2012				
d	From 2013				
е	From 2014				
f	Total of lines 3a through e	21,670			
4	Qualifying distributions for 2015 from Part				
	XII, line 4 \$ 17,850				
а	Applied to 2014, but not more than line 2a				
b	Applied to undistributed income of prior years (Election required—see instructions)				
c	Treated as distributions out of corpus (Election required—see instructions)				
d	Applied to 2015 distributable amount				3,003
е	Remaining amount distributed out of corpus	14,847			
5	Excess distributions carryover applied to 2015				
	(If an amount appears in column (d), the same amount must be shown in column (a))				
6	Enter the net total of each column as indicated below:				
а	Corpus Add lines 3f, 4c, and 4e Subtract line 5	36,517			
	Prior years' undistributed income Subtract line 4b from line 2b				
c	Enter the amount of prior years' undistributed				
	income for which a notice of deficiency has been issued, or on which the section 4942(a)				
٨	tax has been previously assessed				
	—see instructions				
е	Undistributed income for 2014 Subtract line 4a from line 2a Taxable amount—see instructions				
f	Undistributed income for 2016 Subtract				
	lines 4d and 5 from line 1 This amount must				
	be distributed in 2015				C
7	Amounts treated as distributions out of				
	section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)				
8	Excess distributions carryover from 2010 not	1,015			
_	applied on line 5 or line 7 (see instructions)	·			
7	Excess distributions carryover to 2016. Subtract lines 7 and 8 from line 6a	35,502			
0	Analysis of line 9				
	Excess from 2011 4,264				
	Excess from 2012 5,838				
	Excess from 2013 2,187				
	Excess from 2014 8,366				
e	Excess from 2015 14,847				
				F	orm 990-PF (2015)

b The form in which applications should be submitted and information and materials they should include

RESTRICTED TO TAX-EXEMPT ENTITIES WITHIN THE WICHITA AND KANSAS CITY AREAS

d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other

11300 HADLEY

(816) 734-5000

NONE

factors

c Any submission deadlines

OVERLAND PARK, KS 66210

LETTER FORM WITH PROOF OF TAX-EXEMPT STATUS

Form 990-PF (2015)

Part XV Supplementary Information(continued)

3 Grants and Contributions Paid		proved for Fu	uture Payment	
Recipient	If recipient is an individual, show any relationship to	Foundation status of	Purpose of grant or	A mount
Name and address (home or business)	any foundation manager or substantial contributor	recipient	contribution	
a Paid during the year See Additional Data Table	or substantial contributor	recipient		
			▶ 3a	17,850
b Approved for future payment				
Total			▶ 3b	

nter gross an	nounts unless otherwise indicated	Unrelated bu	isiness income	Excluded by section	n 512, 513, or 514	(e) Related or exempt
1 Program se	rvice revenue	(a) Business code	(b) A mount	(c) Exclusion code	(d) A mount	function income (See instructions)
a						
е						
f	contracts from government agencies					
Membersh	p dues and assessments					
Interest or Investmer	n savings and temporary cash ts					
	and interest from securities income or (loss) from real estate			14	2,446	
a Debt-fina	nced property					
6 Net rental	financed property income or (loss) from personal					
	stmentincome					
8 Gaın or (lo	ss) from sales of assets other than			18	686	
	e or (loss) from special events t or (loss) from sales of inventory					
1 Other reve	nue a					
с						
d						
e	dd columns (b), (d), and (e).				3,132	
e 2 Subtotal A 3 Total.Add	dd columns (b), (d), and (e)				3,132 13_	3,132
e	dd columns (b), (d), and (e) ine 12, columns (b), (d), and (e) sheet in line 13 instructions to verify (Relationship of Activities to	calculations) the Accomp	olishment of E	xempt Purpos	es	3,132
e Subtotal A Total.Add (See work Part XVI-B Line No.	dd columns (b), (d), and (e) Ine 12, columns (b), (d), and (e) Sheet In line 13 instructions to verify (calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work Total.Add (See Work Total.Add (See Work Total.Add	dd columns (b), (d), and (e) Ine 12, columns (b), (d), and (e) Sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for which accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work art XVI-B	dd columns (b), (d), and (e) Ine 12, columns (b), (d), and (e) Sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for which accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
e Subtotal A Total.Add (See work Part XVI-B Line No.	dd columns (b), (d), and (e) Ine 12, columns (b), (d), and (e) Sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for which accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work Total.Add (See Work Total.Add (See Work Total.Add	dd columns (b), (d), and (e) Ine 12, columns (b), (d), and (e) Sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for which accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work Total.Add (See Work Total.Add (See Work Total.Add	dd columns (b), (d), and (e) Ine 12, columns (b), (d), and (e) Sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for which accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work Total.Add (See Work Total.Add (See Work Total.Add	dd columns (b), (d), and (e) Ine 12, columns (b), (d), and (e) Sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for which accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work art XVI-B	dd columns (b), (d), and (e) Ine 12, columns (b), (d), and (e) Sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for which accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work art XVI-B	dd columns (b), (d), and (e) Ine 12, columns (b), (d), and (e) Sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for which accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work Total.Add (See Work Total.Add (See Work Total.Add	dd columns (b), (d), and (e) Ine 12, columns (b), (d), and (e) Sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for which accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work art XVI-B	dd columns (b), (d), and (e) Ine 12, columns (b), (d), and (e) Sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for which accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work art XVI-B	dd columns (b), (d), and (e) ine 12, columns (b), (d), and (e) sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for whith the accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work art XVI-B	dd columns (b), (d), and (e) ine 12, columns (b), (d), and (e) sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for whith the accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work Total.Add (See Work Total.Add (See Work Total.Add	dd columns (b), (d), and (e) ine 12, columns (b), (d), and (e) sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for whith the accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work Total.Add (See Work Total.Add (See Work Total.Add	dd columns (b), (d), and (e) ine 12, columns (b), (d), and (e) sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for whith the accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work Total.Add (See Work Total.Add (See Work Total.Add	dd columns (b), (d), and (e) ine 12, columns (b), (d), and (e) sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for whith the accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
e Subtotal A Total.Add (See work Part XVI-B Line No.	dd columns (b), (d), and (e) ine 12, columns (b), (d), and (e) sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for whith the accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
Subtotal A Total.Add (See work Total.Add (See Work Total.Add (See Work Total.Add	dd columns (b), (d), and (e) ine 12, columns (b), (d), and (e) sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for whith the accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to
e	dd columns (b), (d), and (e) ine 12, columns (b), (d), and (e) sheet in line 13 instructions to verify of Relationship of Activities to explain below how each activity for whith the accomplishment of the foundation's	calculations) The Accomplich income is re	plishment of E	Exempt Purpos e) of Part XVI-A c	es ontributed importa	3,132 ntly to

Part		Information Re	egardin	g Transfers T	o and Trans	action	s and F	Relationships	With		Ра	ge 1.
		Noncharitable										
		rganızatıon dırectly or ıı 01(c) of the Code (othe	,	J J ,	_	,	_				Yes	No
orga	anızat	ions?										
		from the reporting four										
		1							•	1a(1)	Yes	
(2)	Othe	erassets								1a(2)		No
		nsactions										
		s of assets to a noncha								1b(1)		No
		hases of assets from a								1b(2)		No
		al of facilities, equipme								1b(3)		No
		bursement arrangemen								1b(4)		No
		s or loan guarantees.								1b(5)		No
		mance of services or m		_						1b(6)		No
c Sha	rıng o	f facilities, equipment, i	mailing lis	ts, other assets,	or paid employe	ees				1 c		No
of tl ın a	ne god ny tra	wer to any of the above ods, other assets, or se nsaction or sharing arr	rvices giv angement	en by the reporti , show in column	ng foundation If (d) the value of	the fou the goo	ndation rods, other	eceived less thar assets, or servic	n fair marke ces receive	et value ed		
(a) Line	No	(b) Amount involved	(c) Name AIPAC	of nonchantable exe		· · ·	Description ONTRIB	of transfers, transact	ions, and sha	ring arra	ngemer	nts
1a(1)		1,600	AIFAC			CASH	O N I KID	OIION				
des √ ſ	cribed No	indation directly or indifiction of the complete the following section (a) Name of organization	ne Code (d schedule	other than section	· ·	ın sectio			otion of relati	·	es	
Sign	the Info	ler penalties of perjury, best of my knowledge a rmation of which prepar	nd belief,	it is true, correct	t, and complete				n taxpaye May t	r) is bas he IRS di	ed on	all
Here)	Company of affine was to			2016-08-15	-)			return with t below	he prepar	er show	vn
		Signature of officer or t	rustee		Date		Title		(see i	nstr)?	Yes	No
		Print/Type preparer's GREG SEVIER	name	Preparer's Sign	ature	Date		Check if self- employed ▶	PTIN P	003013	886	
Paid Prepa Use	arer	Firm's name ▶ BKD LLP				•		Firm's EIN ▶	•			
Only		Firm's address ► 1551 N WATERFRON 672066601	T PKWY S	TE 300 WICHIT	Ā,KS			Phone no (316) 265-281	. 1		
		1										

Recipient	If recipient is an individual,		Purpose of grant or	A mount
Name and address (home or business)	show any relationship to any foundation manager or substantial contributor	status of recipient	contribution	
a Paid during the year				
JEWISH FEDERATION OF GREATER KANSAS CITY 5801 WEST 115 STREET OVERLAND PARK,KS 66211	NONE	PC	GENERAL FUNDS	12,750
CHILDREN'S MERCY HOSPITAL 2401 GILLHAM ROAD KANSAS CITY,MO 64108	NONE	PC	GENERAL FUNDS	1,000
VILLAGE SHALOM 5500 WEST 123RD STREET OVERLAND PARK,KS 66209	NONE	PC	GENERAL FUNDS	1,000
THE EPSTEN GALLERY 5500 W 123RD STREET OVERLAND PARK,KS 66209	NONE	PC	GENERAL FUNDS	1,000
LYRIC OPERA OF KANSAS CITY 1725 HOLMES STREET KANSAS CITY,MO 64108	NONE	PC	GENERAL FUNDS	500
CHILDREN'S MIRACLE NETWORK HOSPITALS 205 W 700 S SALT LAKE CITY,UT 84101	NONE	PC	GENERAL FUNDS	500
ST CHARLES CATHOLIC SCHOOL 804 NE SHADY LANE DRIVE KANSAS CITY,MO 64118	NONE	PC	GENERAL FUNDS	100
JEWISH COMMUNITY CENTER 5801 W 115TH OVERLAND PARK,KS 66211	NONE	PC	GENERAL FUNDS	1,000
Total			▶ 3a	17,850

effie GRAPHIC print - DO NOT PROCESS	AS Filed Data -	DLN: 93491320039666
TY 2015 Accounting Fees Sche	dule	
Name:	MISCO CHARITABLE TRUST	
EIN:	48-6109777	

DI N. 02401220020666

ofile CDADUIC swint DO NOT DDOCESS. As Filed Data

ACCOUNTING FEES

	EIN: 48-6	5109777		
Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes

790

790

efile GRAPHIC print - DO NOT PROCESS | As Filed Data -DLN: 93491320039666 Note: To capture the full content of this document, please select landscape mode (11" x 8.5") when printing. TY 2015 Depreciation Schedule

Name: MISCO CHARITABLE TRUST EIN: 48-6109777

effie GRAPHIC print - DO NOT PROCESS	As Filed Data -	DLN: 93491320039666
TY 2015 Investments Corpora	te Stock Schedule	
Name:	MISCO CHARITABLE TRUST	
EIN:	48-6109777	

DI N. 02401220020666

60,998

60,998

ofile CDADUIC print DO NOT DDOCECE As Filed Date

STATEMENT A

EIN. 40-01097//		
Name of Stock	End of Year Book	End of Year Fair
	Value	Market Value

EIN: 48-6109777	,
Name: MISCO CHARITABLE TRUST	
TY 2015 Other Decreases Schedule	
efile GRAPHIC print - DO NOT PROCESS As Filed Data -	DLN: 93491320039666

UNREALIZED LOSS

DI N: 93491320039666

Name: MISCO CHARITABLE TRUST

1,346

efile GRAPHIC print - DO NOT PROCESS | As Filed Data -

MERRILL LYNCH

	E114: 40 0103	,,,,		
Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes

1,346

effile GRAPHIC print - DO NOT PROCESS	As Filed Data -	DLN: 93491320039666
TY 2015 Taxes Schedule		
Name:	MISCO CHARITABLE TRUST	
EIN:	48-6109777	

DIN. 02404220020666

offic CDADUTC maint DO NOT DDOCECC As Filed Date

EIN: 48-6109777				
Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
TAXES	35	35		

efile GRAPHIC print -	DO NOT PROCESS	As Filed Data -			DLN: 93491320039666
Schedule B		Schedu	le of Contributor	'S	OMB No 1545-0047
(Form 990, 990-EZ, or 990-PF) Department of the Treasury Internal Revenue Service	► Information abo	out Schedule B (Fo	Form 990, 990-EZ, or 990-F orm 990, 990-EZ, or 990-PF ow irs gov/form990		2015
Name of the organizati				Employ	er identification number
——————————————————————————————————————	18031			48-61	09777
Organization type (ch	eck one)				
Filers of:	Section:				
Form 990 or 990-EZ	501(c)()(enter number) org	janization		
	T 4947(a)(1)	nonexempt charita	able trust not treated as a	private foundation	
	☐ 527 politica	l organization			
Form 990-PF	√ 501(c)(3) €	xempt private four	ndation		
	T 4947(a)(1)	nonexempt charita	able trust treated as a priva	ate foundation	
	─ 501(c)(3) t	axable private four	ndation		
other property Special Rules For an organizar under sections sections areceived from a Part VIII, line 1h,) from any one contribition described in section 509(a)(1) and 170(b)(1) any one contributor, during or (ii) Form 990-EZ, line	n 501(c)(3) filing F)(A)(vi), that chec ng the year, total c e 1 Complete Parts	ts I and II See instructions to Form 990 or 990-EZ that me ked Schedule A (Form 990 contributions of the greater	for determining a contribu et the 33 ¹ /3% support test or 990-EZ), Part II, line 13 of (1) \$5,000 or (2) 2% o	of the regulations 3, 16a, or 16b, and that f the amount on (i) Form 990,
during the year,		ore than \$1,000 e	xclusively for religious, cha		ny one contributor, , or educational purposes, or
during the year, this box is chec purpose Do not	contributions <i>exclusiv</i> ked, enter here the tota complete any of the pa	ely for religious, ch I contributions that arts unless the Ge	or (10) filing Form 990 or 99 naritable, etc., purposes, but were received during the neral Rule applies to this of more during the year.	ut no such contributions to year for an exclusively ro organization because it re	otaled more than \$1,000 If eligious, charitable, etc., eccived <i>nonexclusively</i>
990-EZ, or 990-PF), but	ıt must answer "No" d	n Part IV, line 2, of	e and/or the Special Rules of fits Form 990, or check the loes not meet the filing requ	e box on line H of its	

Name of organization MISCO CHARITABLE TRUST Employer identification number 48-6109777

Part I	Contributors (see instructions) Use duplicate copies of Part I if additional spa	ice is needed	
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
1			Person 🗸
	PETER H BEREN 11300 HADLEY STREET	\$ 25,000	Payroll
	OVERLAND PARK, KS66210	323,000	Noncash
			(Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
			Person
		<u> </u>	Payroll
		-	Noncash
			(Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
			Person
		_ _ _ s	Payroll
		1	Noncash
			(Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
			Person
			Payroll
		1	Noncash
			(Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
			Person
		_ s	Payroll
		-	Noncash
			(Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
			Person
			Payroll
		<u> </u>	Noncash
			(Complete Part II for noncash contributions)

Employer identification number

		48-6109777	
Part II	Noncash Property (see instructions) Use duplicate copies of Part II if additional space is needed		
(a) No.from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
(a) lo.from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		s	
(a) No.from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
(a) No.from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
(a) No.from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		s	
(a) No.from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received

Schedule B (Form 990, 990-EZ, or 990-PF) (2015)

EQUITIES Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Estimated Current Gain/(Loss) Annual Income Yield%	Estimated Current Inual Income Yield%	urrent Yield%
ABBVIE INC SHS	ABBV 03/27/14	30	51.6656	1,549.97	59.2400	1,777.20	227.23	69	3.84
	03/27/14	-	54.8100	54.81◆	59.2400	59.24	4.43	က	3.84
	04/07/14	က	51.3400	154.02	59.2400	177.72	23.70	7	3.84
Subtotal		34		1,758.80		2,014.16	255.36	79	3.84
ALTRIA GROUP INC	MO 03/27/14	20	37.2750	745.50	58.2100	1,164.20	418.70	46	3.88
	04/07/14	2	37.8550	75.71	58.2100	116.42	40.71	5	3.88
Subtotal		22		821.21		1,280.62	459.41	51	3.88

EQUITIES (continued)	Sumbol Actuited	Orentity	Unit Cost Rasis	Total	Estimated	Estimated Market Value	Unrealized Estimated (Estimated Current	Current Viold%
Cesculption	Sympol pedaned	Guanning	003t Da313	CICRE PERSIS	Warner Free	Maryet Value	odiiii/ (E033) Aii	inda income	2000
AMN ELEC POWER CO	AEP 03/27/14	22	49.8450	1,096.59	58.2700	1,281.94	185.35	20	3.84
	04/07/14	3	51.1500	153.45	58.2700	174.81	21.36	7	3.84
	04/16/15	4	55.7250	222.90	58.2700	233.08	10.18	6	3.84
	09/30/15	_	56.2600	56.26	58.2700	58.27	2.01	m	3.84
Subtotal		30		1,529.20		1,748.10	218.90	69	3.84
ASTRAZENECA PLC SPND ADR	AZN 12/10/14	33	36.7257	1,211.95	33.9500	1,120.35	(91.60)	46	4.06
	12/11/14	24	36.9295	886.31	33.9500	814.80	(71.51)	34	4.06
	12/12/14	2	36.5300	73.06	33.9500	67.90	(5.16)	ო	4.06
	12/31/14	_	35,4900	35,49	33,9500	33,95	(1.54)	2	4.06
	10/16/15	2	32.1600	64.32	33.9500	06'29	3.58	m	4.06
	10/19/15	9	32.2016	193.21	33.9500	203.70	10.49	6	4.06
Subtotal		89		2,464.34		2,308.60	(155.74)	97	4.06
AT&T INC	T 03/27/14	39	34,9866	1,364,48	34.4100	1,341.99	(22.49)	75	5.57
	04/07/14	4	35.6475	142.59	34.4100	137.64	(4.95)	80	5.57
	04/16/15	8	32.8087	262.47	34.4100	275.28	12.81	16	5.57
Subtotal		51		1,769.54		1,754.91	(14.63)	66	5.57
AUTOMATIC DATA PROC	ADP 03/27/14	18	66,6816	1,200.27	84.7200	1,524.96	324,69	39	2,50
	04/07/14	2	65.7550	131.51	84.7200	169.44	37.93	5	2.50
	10/03/14	4	74.7000	298.80	84.7200	338.88	40.08	0	2.50
	10/06/14	_	74.8900	74.89	84.7200	84.72	9.83	က	2.50
	09/30/15	~	79,4500	79.45	84.7200	84.72	5.27	က	2.50
Subtotal		56		1,784.92		2,202.72	417.80	59	2.50
CENTURYLINK INC SHS	CTL 02/09/15	13	39.7815	517.16	25.1600	327.08	(190.08)	29	8.58
	02/10/15	∞	39 9662	319.73	25 1600	201 28	(118 45)	18	8.58
	02/11/15	9	40.3400	242,04	25,1600	150.96	(91.08)	13	8.58
	02/12/15	15	39.0173	585.26	25.1600	377.40	(207.86)	33	8.58
	07/16/15	5	30.3360	151.68	25.1600	125.80	(25.88)	11	8.58
	07/11/15	80	30.8537	246.83	25.1600	201.28	(45.55)	18	8.58
Subtotal		55		2,062.70		1,383.80	(678.90)	122	8.58

Description		,	Unit	Total	Estimated	Estimated	Unrealized	Estimated Current	Surrent
THOO WIND WOOD	Symbol Acquired	Quantity	Cost Basis	Cost Basis	Market Price	Market Value	Gain/(Loss) Annual Income Yield%	nual Income	Xield%
COCA COLA COM	K0 03/17/15	33	40.5254	1,337.34	42.9600	1,417.68	80.34	44	3.07
	03/18/15	7	40.0985	280.69	42.9600	300.72	20.03	10	3.07
Subtotal		40		1,618.03		1,718.40	100.37	54	3.07
CONOCOPHILLIPS	COP 09/09/15	29	48.3820	1,403.08	46.6900	1,354.01	(49.07)	86	6.33
	09/10/15	7	47.9972	527.97	46,6900	513,59	(14.38)	33	6.33
Subtotal		40		1,931.05		1,867.60	(63.45)	119	6.33
DIGITAL RLTY TR INC	DLR 03/27/14	27	53.1900	1,436.13	75.6200	2,041.74	605.61	92	4.49
	03/31/14	_	54,0800	54,08◆	75,6200	75,62	21,54	4	4.49
	04/07/14	က	53.0200	159.06	75.6200	226.86	67.80	11	4.49
Subtotal		31		1,649.27		2,344.22	694.95	107	4.49
DOMINION RES INC NEW VA	D 12/10/14	12	73.3241	879.89	67.6400	811.68	(68.21)	32	3.82
	12/11/14	80	73,2587	586.07	67.6400	541,12	(44.95)	21	3.82
	12/12/14	10	73.3880	733.88	67.6400	676.40	(57.48)	26	3.82
Subtotal		30		2,199.84		2,029.20	(170 64)	79	3.82
ELI LILLY & CO	LLY 06/20/14	17	61.9576	1,053.28	84.2600	1,432.42	379.14	35	2.45
	09/24/14	~	66.5100	66.51	84.2600	84.26	17.75	m	2.42
	03/25/15	~	74.7100	74.71	84.2600	84.26	9.55	m	2.42
Subtotal		19		1,194.50		1,600.94	406.44	41	2.42
GENERAL ELECTRIC	GE 03/27/14	69	25.7276	1,517.93	31.1500	1,837.85	319.92	55	2.95
	04/07/14	7	25.8771	181.14	31,1500	218.05	36.91	7	2.95
	09/24/14	~	25.9100	25.91	31.1500	31.15	5.24	-	2.95
	01/16/15	13	23.5623	306.31	31.1500	404.95	98.64	12	2.95
	03/25/15	~	25.0600	25.06	31.1500	31.15	60'9	-	2.95
Subtotal		81		2,056.35		2,523.15	466.80	9/	2.95

EQUITIES (continued) Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Estimated Current Gain/(Loss) Annual Income Yield%	Estimated Current Inual Income Yield%	Surrent Yield%
INTEL CORP	INTC 03/27/14	41	25.3358	1,038.77	34,4500	1,412.45	373.68	40	2.78
	04/07/14	7	26.6357	186.45	34.4500	241.15	54.70	7	2.78
	09/24/14	4	34.7400	138.96	34.4500	137.80	(1.16)	4	2.78
	03/17/15	6	30.5577	275.02	34.4500	310.05	35.03	6	2.78
	03/25/15	2	29,9900	59,98	34,4500	06'89	8,92	2	2.78
	08/24/15	7	27.1200	189.84	34,4500	241.15	51.31	7	2.78
	08/24/15	8	25.8125	206.50	34.4500	275.60	69.10	8	2.78
Subtotal		78		2,095.52		2,687.10	591.58	77	2.78
JPMORGAN CHASE & CO	JPM 03/27/14	25	59,9872	1,499.68	66.0300	1,650.75	151.07	44	2.66
	03/27/14	~	64.2000	64.20◆	66.0300	66.03	1.83	2	5.66
	04/07/14	2	59.3050	118.61	66.0300	132.06	13.45	4	5.66
Subtotal		28		1,682.49		1,848.84	166.35	20	2.66
KIMBERLY CLARK	KMB 03/27/14	12	105.2033	1,262.44	127.3000	1,527.60	265.16	43	2.76
	04/07/14	~	106.3100	106.31	127.3000	127.30	20.99	4	2.76
	11/04/14	2	112.2600	224.52	127.3000	254.60	30.08	8	2.76
Subtotal		15		1,593.27		1,909.50	316.23	55	2.76
KRAFT (THE) HEINZ CO SHS	KHC 03/27/14	15	55,5346	833.02	72,7600	1,091.40	258.38	35	3,16
	04/07/14	3	57.0800	171.24	72.7600	218.28	47.04	7	3.16
	07/08/15	3	74.4400	223.32	72.7600	218.28	(5.04)	7	3.16
	09/30/15	•	70.1200	70.12	72.7600	72.76	2.64	က	3.16
Subtotal		22		1,297.70		1,600.72	303.02	52	3.16
LOCKHEED MARTIN CORP	LMT 03/27/14	6	158.7322	1,428.59	217.1500	1,954.35	525.76	9	3.03
	04/07/14	2	159.1100	318.22	217.1500	434.30	116.08	14	3.03
Subtotal		11		1,746.81		2,388.65	641.84	74	3.03
MCDONALDS CORP COM	MCD 03/27/14	15	96.2046	1,443.07	118.1400	1,772.10	329.03	54	3.01
	04/07/14	2	97.3100	194.62	118.1400	236.28	41.66	80	3.01
	04/16/14	က	100.8333	302.50	118.1400	354,42	51.92	1	3.01
	04/16/15	က	96.2500	288.75	118.1400	354.42	65.67	11	3.01
Subtotal		23		2,228.94		2,717.22	488.28	84	3.01

EQUITIES (continued) Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Estimated Current Gain/(Loss) Annual Income Yield%	Estimated Current	urrent Vield%
OCCIDENTAL PETE CORP CAL	0XY 03/27/14	16	91,3181	1,461.09	67.6100	1,081.76	(379.33)	48	4.43
	04/07/14	2	91.2000	182.40	67.6100	135.22	(47.18)	9	4.43
	04/08/14	~	89.3700	89.37	67.6100	67.61	(21.76)	က	4.43
	04/10/14	2	90.6650	181.33	67.6100	135.22	(46.11)	9	4.43
	10/16/14	4	82,8150	331,26	67,6100	270,44	(60.82)	12	4.43
	10/17/14	_	85,8600	85,86	67.6100	67.61	(18.25)	3	4.43
	08/24/15	~	66.8100	66.81	67.6100	67.61	.80	3	4.43
	08/24/15	2	67.0350	134.07	67.6100	135.22	1.15	9	4.43
	09/30/15	_	65,1800	65.18	67.6100	67,61	2,43	က	4.43
Subtotal		30		2,597.37		2,028.30	(269.07)	90	4.43
PACCAR INC	PCAR 03/27/14	30	65.8883	1,976.65	47.4000	1,422.00	(554.65)	29	2.02
	03/27/14	~	65.6800	€2.68	47.4000	47.40	(18.28)	_	2.02
	04/07/14	2	65,1900	130,38	47.4000	94.80	(35.58)	2	2.02
	04/17/14	_	59.2800	59.28◆	47.4000	47.40	(11.88)	-	2.02
	10/16/15	2	52.3300	104.66	47.4000	94.80	(98.6)	2	2.02
	10/19/15	5	52.1920	260.96	47.4000	237.00	(23.96)	5	2.02
Subtotal		41		2,597.61		1,943.40	(654.21)	40	2.02
PHILIP MORRIS INTL INC	PM 03/27/14	10	80.0960	800.96	87.9100	879.10	78.14	41	4.64
	04/07/14	-	82.8800	82.88	87.9100	87.91	5.03	5	4.64
	04/16/15	က	83,5466	250.64	87.9100	263,73	13.09	13	4.64
Subtotal		14		1,134.48		1,230.74	96.26	59	4.64
PPL CORPORATION	PPL 03/27/14	44	30.4947	1,341.77	34.1300	1,501.72	159,95	67	4.42
	03/31/14	-	31.2000	31.20	34.1300	34.13	2.93	2	4.45
	04/07/14	က	30.8433	92.53	34.1300	102.39	98'6	5	4.42
	06/04/15	5	31.5280	157.64	34.1300	170.65	13.01	80	4.45
Subtotal		53		1,623.14		1,808.89	185.75	82	4.42

EQUITIES (continued)	Symbol Acquired	Orantitv	Unit Cost Rasis	Total Cost Basis	Estimated	Estimated Market Value	Unrealized Estimated Current Gain/Il oss) Annual Income Viold%	Estimated Current	Current Vield%
Combine	Sympol Acquired	Commy	SISPA ISON	CICPA TOO	Market Free	INGLACIAN	Dann (E033) An	maar meanic	200
PROCTER & GAMBLE CO	PG 12/11/15	2	77.7300	388.65	79.4100	397,05	8.40	14	3,33
	12/14/15	9	78.0350	468.21	79.4100	476.46	8.25	16	3.33
	12/15/15	6	79.5744	716.17	79.4100	714.69	(1.48)	24	3.33
	12/16/15	8	80.2912	642.33	79.4100	635.28	(7.05)	22	3.33
Subtotal		28		2,215.36		2,223.48	8.12	9/	3.33
SPECTRA ENERGY CORP	SE 03/27/14	40	36.8567	1,474.27	23.9400	957.60	(516.67)	9	6.18
	04/07/14	5	37.6880	188.44	23.9400	119.70	(68.74)	80	6.18
	01/16/15	10	33.0510	330.51	23.9400	239.40	(91.11)	15	6.18
	01/20/15	ဗ	32,8600	98'28	23,9400	71,82	(26.76)	5	6.18
	07/16/15	8	31,3050	250.44	23.9400	191.52	(58.92)	12	6.18
	07/11/15	4	30.7975	123.19	23.9400	92.76	(27.43)	9	6.18
Subtotal		20		2,465.43		1,675.80	(789.63)	106	6.18
THOMSON REUTERS CORP	TRI 03/27/14	26	34.0253	884.66	37.8500	984.10	99,44	35	3.54
	04/07/14	2	35.0700	70.14	37.8500	75.70	5.56	m	3.54
Subtotal		28		954.80		1,059.80	105.00	38	3.54
TORONTO DOMINION BANK	TD 03/27/14	25	46.5772	1,164.43	39.1700	979.25	(185.18)	39	3.90
	03/27/14	~	43.1400	43.14◆	39,1700	39.17	(3.97)	2	3.90
	04/07/14	3	46.6000	139.80	39.1700	117.51	(22.29)	5	3.90
	09/24/14	~	50.8500	50.85	39.1700	39.17	(11.68)	2	3.90
	03/17/15	7	42.1150	84.23	39.1700	78.34	(2.89)	4	3.90
	03/18/15	4	42.3775	169.51	39.1700	156,68	(12.83)	7	3.90
Subtotal		36		1,651.96		1,410.12	(241.84)	59	3.90
VENTAS INC	VTR 03/27/14	26	52.0484	1,353.26	56,4300	1,467.18	113,92	76	5.17
REIT	04/07/14	ဗ	54 9766	164.93	56 4300	169 29	4 36	6	5.17
	07/16/14	4	56,0175	224.07	56,4300	225,72	1,65	12	5.17
	07/16/15	_	56,1900	56.19	56,4300	56,43	.24	က	5.17
	08/24/15	-	58.4100	58.41	56.4300	56,43	(1.98)	8	5.17
	08/24/15	~	58.5600	58.56	56.4300	56.43	(2.13)	က	5.17
Subtotal		36		1,915.42		2,031.48	116.06	106	5.17

EQUITIES (continued)			Unit	Total	Estimated	Estimated	Unrealized	Estimated Current	Jurrent
Description	Symbol Acquired	Quantity	Cost Basis	Cost Basis	Market Price	Market Value	Gain/(Loss) Annual Income Yield%	nnual Income	Yield%
VERIZON COMMUNICATINS COM	VZ 03/27/14	35	47.5382	1,663.84	46.2200	1,617.70	(46.14)	80	4.88
	04/07/14	4	47.9175	191.67	46.2200	184.88	(6.79)	10	4.88
	04/16/15	9	49.3066	295.84	46.2200	277.32	(18.52)	14	4.88
Subtotal		45		2,151.35		2,079.90	(71.45)	104	4.88
TOTAL				52,791.40		55,420.36	2,628.96	2,204	3.98
MUTUAL FUNDS/CLOSED END FUNDS/UIT	NDS/UIT	76	Total Estimated	Estumated	Unrealized	Total Clent	Cumulative Investment	Estimated Annual Current	urrent
Description	Quantity	Cost Basis	sis Market Price	Market Value	J	Investment	Return (\$)	Income Yield%	/ield%
LORD ABBETT INCOME FUND CL F	1,052	3,040.68	68 2.6600	2,798.32	(242.36)	3,040	(242)	135	4.81
SYMBOL: LAUFX Initial Purchase: 03/27/14	urchase: 03/27/14								
Fixed Income 100%									
LORD ABBETT HIGH YIELD FD CL F	404	3,185.92	92 6.8800	2,779.52	(406.40)	3,185	(406)	173	6.20
SYMBOL: LHYFX Initial Purchase: 03/27/14 Fixed Income 100%	urchase: 03/27/14								
Subtotal (Fixed Income)				5,577.84					
TOTAL		6,226.60	90	5,577.84	(648.76)		(648)	308	5.52